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REVISION TEST-2



REVISION TEST 2

a.Choose the correct answer and fill in the blanks..

i) On subtacting 1 from a number,the difference is the________   

(2×1=2)

Q1.Do as directed.

i) On subtacting 1 from a number,the difference is the________   
number.(next/ previous )

ii) The number by which the multiplicand is multiplied is called 

________. (multiplier/ product)



a.previousa.previous

b.multiplier



b.Solve.e. (2×2=4)

i)
H       T      O H       T      O

4       6      6
5       3      2

+

ii)

5       5      7

2       2      8

- 5       3      2

6       3      4

+

-



5  5   7
1 4  6   6

5  3   2-
+

174

5  5   7
2  2   8

23

5  3   2
9 89-

+

6  3   4-

463
9



c.In a jar there are 45 sweets. How many sweets are 
there in 6 such jars?

Number of sweets =           _____

Number of jars =                _____

(4)

4  5

Total  sweets=                        _____

So,there are ______ sweets in 6 such jars.



3
4  5

6x

02  7
So,there are 270 sweets in 7 such jars.

4  5



Q QQ3.Choose,colour and write the answer..

8×3=

10×2=
66 20

2416

5×1=5

9×4=

8×2=

11×6=

66
74 36

20



8×3=

10×2= 24

24

2010×2=

9×4=

8×2=

11×6=

74

24

20
36

16
66

20
36

16

66
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